
in
st

ru
c

ti
o

n
s 

| 
C

h
a

irs

gaber.it

KANVAS BL
Assembly Instruction

1.    

2.    

Arrange the Components
Disporre i Componenti

Place the frame over the shell and tighten the screws (2pcs M6x25 2pcs front M6x30 back)
Posizionare il telaio sopra la scocca e avvitare le viti (2pz M6x25 davanti 2 pz M6x30 dietro)

Allen Wrench
Chiave a brugola

Cle Allen | Llave Allen

TOOLS


